PROPOSAL

to the

BOARD OF COUNTY COMMISSIONERS

COUNTY OF MONMOUTH, NEW JERSEY for the

Project Entitled:

THE 2022/2023 ON-CALL MAINTENANCE CONTRACT FOR ROADWAYS AND BRIDGES VARIOUS LOCATIONS IN THE COUNTY OF MONMOUTH FOR THE ESTIMATED TIME PERIOD OF AUGUST 1, 2022 THROUGH JULY 31, 2023

RFB # F-52-2022

The undersigned hereby declares that he has carefully examined the Advertisement, Standard Specifications, Addendum(s) to Standard Specifications, Instructions to Bidders, Form of Contract and Bond for the Project named above; that he has carefully examined the site of the Project as provided in Section 102 of the 2019 Standard Specifications and that he will contract to carry out and complete said Project as specified and delineated at the prices per unit measure for each scheduled item of work stated in the Schedule of Prices.

It is understood that the total price, stated by the undersigned in the Schedule of Prices for the various item, is based on the estimated quantities and will control in the awarding of the Contract.

It is further understood that the quantities stated in this Schedule of Prices are estimates only and may be increased or decreased as provided for in the Specifications.

Submitted By:

i.

The undersigned i of New Jer	- ·	ividual, or Corporation under the laws of the State ing principal offices at	;
CONTRACTOR:	Sparwick Contracting	ng, Inc	
ADDRESS:	21 Sunset Inn Road	Lafayette, New Jersey 07848	
TELEPHONE:	(973) 300-4709	·	
BY:	Mark Fagersten	(Printed)	
TITLE:	Vice President	(Signed)	
DATE: 6/29			- Continued &

Sheet 3 of 7

SCHEDULE OF QUANTITIES & PRICES

Project Entitled:

THE 2022/2023 ON-CALL MAINTENANCE CONTRACT FOR ROADWAYS AND BRIDGES VARIOUS LOCATIONS IN THE COUNTY OF MONMOUTH FOR THE ESTIMATED TIME PERIOD OF AUGUST 1, 2022 THROUGH JULY 31, 2023 BID # F-52-2022

Item	Estimated	BID # F-52-2022	Unit	
	Quantities	Description	Price	Amount
1.	Lump Sum	Performance Bond and Payment Bond	\$0.01 \$	0.01 \$
2.	Lump Sum	Owner's & Contractor's Protective Liability Insurance	\$	\$
3.	8 Hours	Traffic Directors	\$150.00 \$	1200.00 \$
4.	10,000 Units	Uniformed Police Officer Allowance	\$1.00	\$10,000.00
5.	5 Units	Breakaway Barricades	\$	\$
6.	30 Units	Traffic Cones	\$\$25.00 \$50.00	\$750.00 450.00
7.	9 Units	Drums	\$	\$
8.	4 Units	Construction Signs, 48" x 48"	\$100.00 \$	\$ \$
9.	4 Units	Construction Signs, 60" x 30"	\$\$0.01 \$0.01	\$0.04 0.04
10.	4 Units	Construction Signs, 48" x 24"	\$	\$
11.	4 Units	Construction Signs, 48" x 30"	\$0.01 \$	0.04 \$
12.	4 Days	Floodlights for Night Time Operations	\$	\$
13.	5 Days	Illuminated Flashing Arrows, 4' x 8'	\$\$0.01 \$0.01	\$0.05 0.01
14.	1 Unit	Truck Mounted Attenuator Replacement Cartridge		\$
15.	3 Days	Traffic Control Truck with Mounted Crash Cushions	\$	\$
16.	5 Days	Mobilization of Traffic Control	\$\$500.00	\$2500.00
17.	125,000 Units	Materials Allowance	\$1.00	\$ 125,000.00
18.	50,000 Units	Specialty Services and Equipment Allowance	\$1.00	\$ 50,000.00.
19.	4 Hours	Mobilization of Land Based Pile Driver-STD	\$ \$500.00	\$ 2000.00

Sheet 4 of 7

SCHEDULE OF QUANTITIES & PRICES

Project Entitled:

THE 2022/2023 ON-CALL MAINTENANCE CONTRACT FOR ROADWAYS AND BRIDGES VARIOUS LOCATIONS IN THE COUNTY OF MONMOUTH FOR THE ESTIMATED TIME PERIOD OF AUGUST 1, 2022 THROUGH JULY 31, 2023

	Estimated Quantities	Description	Unit Price	Amount
20.	2 Hours	Mobilization of Land Based Pile Driver-PREM	\$.\$150.00	\$
21.	8 Hours	Mobilization of Barge Based Pile Driver, 60 Foot Piles – STD	\$500.00 \$	4000.00 \$
22.	4 Hours	Mobilization of Barge Based Pile Driver, 60 Foot Piles, PREM	\$150.00 \$	\$
23.	8 Hours	Mobilization of Working Barge, Self-Propelled – STD	\$.\$0.01	\$.0.08
24.	4 Hours	Mobilization of Working Barge, Self-Propelled – PREM	\$0.01 \$	0.04 \$
25.	16 MH	Diver – STD	\$500.00	\$.8000.00
26.	4 MH	Diver – PREM	\$.\$400.00	\$.1600.00
27.	8 MH	PE Diver- STD	\$500.00 \$	4000.00 \$
28.	4 MH	PE Diver- PREM	\$	\$
29.	16 MH	Shop Preparation – STD	\$.\$0.01	\$.0.16
30.	4 MH	Shop Preparation – PREM	\$0.01 \$	0.04 \$
31.	16 MH	Shop Fabrication – STD	\$0.01 \$	0.16 \$
32.	4 MH	Shop Fabrication – PREM	\$1	\$.0.04
33.	200 MH	Timber Work – STD	\$.\$165.Q0	\$.33000.00
34.	40 MH	Timber Work – PREM	\$50.00 \$	2000.00 \$
35.	680 MH	Concrete Work – STD	\$175.00	\$
36.	40 MH	Concrete Work – PREM	\$.\$50.00	\$.2000.00
37.	200 MH	Steel Work – STD	\$.\$165.00	\$-33000:00
38.	50 MH	Steel Work – PREM	\$50.00 \$	2500.00 \$

Sheet 5 of 7

SCHEDULE OF QUANTITIES & PRICES

Project Entitled:

THE 2022/2023 ON-CALL MAINTENANCE CONTRACT FOR ROADWAYS AND BRIDGES VARIOUS LOCATIONS IN THE COUNTY OF MONMOUTH FOR THE ESTIMATED TIME PERIOD OF AUGUST 1, 2022 THROUGH JULY 31, 2023

	Estimated Quantities	Description	Unit Price	Amount
39.	1,100 MH	Laborer – STD	\$150.00 \$	165000.00
40.	50 MH	Laborer – PREM	\$\$45.00 \$25.00	\$2250.00 2500.00
41.	100 L.F.	6" x 8" x 20" Concrete Vertical Curb	\$	\$
42.	100 S.Y.	Concrete Sidewalk, 4" Thick	\$45.00 \$	4500.00 \$
43.	80 S.Y.	Concrete Driveway, Reinforced, 6" Thick	\$\$55.00 \$150.00	\$4400.00 1500.00
44.	10 S.Y.	Detectable Warning Surface	\$	\$
45.	350 S.F.	Repair of Concrete Deck, Type A	\$0.01 \$	3.50 \$
46.	350 S.F.	Repair of Concrete Deck, Type B	\$	\$
47.	80 S.F.	Repair of Concrete Deck, Type C	\$\$0.01 \$0.01	\$0.80 0.40
48.	40 MH	Travel – STD	\$	\$
49.	4 MH	Travel – PREM	\$0.01 \$	0.04 \$
50.	40 Hours	Access Work Boat	\$\$50.00 \$0.01	\$2000.00 0.08
51.	8 Hours	Manpower Access Machine, Self-Propelled	\$	\$
52.	8 Hours	Working Barge, Self-Propelled – STD	\$0.01 \$	0.08
53.	4 Hours	Working Barge, Self-Propelled – PREM	\$	\$
54.	80 Hours	Air Compressor (150-225CFM)	\$\$150.00 \$100.00	\$ 12000.00 2400.00
55.	24 Hours	Floating Work Platform	\$	\$
56.	12 Hours	Water Blast Cleaning Unit	\$100.00 \$	1200.00 \$
57.	8 Hours	Portable Core Drill	\$\$50.00	\$400.00
58.	8 Hours	Jacking System, 100 Ton	\$\$50.00	\$400.00
59.	4 Hours	Jacking System, (Pan Cake), 100 Ton	\$50.00 \$	200.00 \$
60.	8 Hours	Jacking System, 50 Ton	\$	\$

Sheet 6 of 7

Proposal (continued)

SCHEDULE OF QUANTITIES & PRICES

Project Entitled:

THE 2022/2023 ON-CALL MAINTENANCE CONTRACT FOR ROADWAYS AND BRIDGES VARIOUS LOCATIONS IN THE COUNTY OF MONMOUTH FOR THE ESTIMATED TIME PERIOD OF AUGUST 1, 2022 THROUGH JULY 31, 2023

		BID # F-52-2022		
	Estimated		Unit	
No.	Quantities	Description	Price	Amount
61.	4 Hours	Jacking System, (Pan Cake), 50 Ton	\$.\$50.00 \$100.00	\$ 200.00 800.00
62.	8 Hours	Mechanical Mortar/Grout Mixer	\$	\$
63.	8 Hours	Mechanical Concrete Mixer	\$100.00 \$	800.00 \$
64.	12 Hours	Blast Cleaning Unit	\$	\$
65.	4 Hours	Walk Behind Concrete Saw	\$.\$100.00	\$.400.00
66.	20 Hours	Dewatering	\$100.00 \$	2000.00 \$
67.	4 Hours	Delamination Survey	\$0.01 \$	\$
68.	4 Hours	Pneumatically Applied Mortar System	\$.\$0.01 \$0.01	\$.0.04 0.08
69.	8 Hours	Mud Jacking System	\$	\$
70.	200 Hours	Pickup Truck, 4 x 2, Gas Powered, STD	\$	\$
71.	8 Hours	Pickup Truck, 4 x 2, Gas Powered, PREM	\$. \$ 0.01 \$120.00	\$.0.08 24000.00
72.	200 Hours	Stake Body Truck – STD	\$	\$
73.	6 Hours	Stake Body Truck – PREM	\$0.01 \$	\$
74.	24 Hours	Truck Mounted Crane - STD	\$.\$100.00	\$.2400.00
75.	4 Hours	Truck Mounted Crane - PREM	\$100.00 \$	400.00 \$
76.	250 Hours	Excavator -STD	\$\$185.00	\$
77.	8 Hours	Excavator -PREM	\$\$100.00	\$800.00
78.	24 Hours	Telescopic Forklift- STD	\$	\$
79.	4 Hours	Telescopic Forklift- PREM	\$.\$0.01	\$0.04
80.	8 Hours	Manpower Access Machine, Truck Mounted, STD	\$\$50.00	\$
81.	4 Hours	Manpower Access Machine, Truck Mounted, PREM	\$0.01 \$	0.04 \$
82.	40 Hours	Dump Truck, 10 CY – STD	\$ \$	\$

6/29/22

DATE:

Sheet 7 of 7

SCHEDULE OF QUANTITIES & PRICES

Project Entitled:

THE 2022/2023 ON-CALL MAINTENANCE CONTRACT FOR ROADWAYS AND BRIDGES VARIOUS LOCATIONS IN THE COUNTY OF MONMOUTH FOR THE ESTIMATED TIME PERIOD OF AUGUST 1, 2022 THROUGH JULY 31, 2023

Item l	Estimated		Unit	
No.	Quantities	Description	Price	Amount
83.	4 Hours	Dump Truck, 10 CY – PREM	\$.\$25.00 \$50.00	\$ 100.00 2000.00
84.	40 Hours	Tandem Dump Truck, 16 CY - STD	\$	\$
85.	4 Hours	Tandem Dump Truck, 16 CY – PREM	\$50.00 \$	200.00 \$
86.	16 Hours	Land Based Pile Driver - STD	\$	\$ <u>6400.00</u>
87.	4 Hours	Land Based Pile Driver – PREM	\$.\$5Q0.0Q	\$.2000.00
88.	8 Hours	Barge Based Pile Driver, 60 Foot Piles, STD	\$300.00 \$	2400.00 \$
89.	2 Hours	Barge Based Pile Driver, 60 Foot Piles, PREM	\$	\$
90.	32 Hours	Combination Loader/Backhoe, STD	\$.\$0.01 \$0.01	\$.0.32 0.04
91.	4 Hours	Combination Loader/Backhoe, PREM	\$	\$
92.	8 Hours	Concrete Pump, STD	\$125.00 \$	\$
93.	4 Hours	Concrete Pump, PREM	\$.\$125.00	\$.500.00
94.	1 Day	Snooper, On-Call Daily	\$.\$3,500.00.	\$.3500.00
95.	1 Week	Snooper, On-Call Weekly	\$0.01 \$	0.01 \$
TOTA	AL LUMP SUM	1 BID ALL ITEMS 726,110.22		
		(Numeric)	·	
SEVE	EN HUNDRED T	WENTY SIX THOUSAND ONE HUNDRED TEN DOLLARS	AND TWENTY TV	VO CENTS
		(Written)		_\$77 N e,
CON	TRACTOR:	Sparwick Contracting, Inc		200
BY:_	Mark	Fagersten /	:	
	//	(Printed)		
	10		.	W. B. Call St. A. S.
		(Signature)		.